
1) (7 x 36) + (1 x 76)

Answer: ____________

2) (6 x 88) + (3 x 10-6)

Answer: ____________

3) 5 + 9

Answer: ____________

4) 4 + 4

Answer: ____________

5) 10 + 0

Answer: ____________

6) (9 x 42) - (4 x 71)

Answer: ____________

7) (5 x 106) + (8 x 12)

Answer: ____________

8) (5 x 78) + (8 x 7-9)

Answer: ____________

9) (9 x 64) + (10 x 96)

Answer: ____________

10) (8 x 83) + (1 x 98)

Answer: ____________

Total: ___ / 10
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Answers:

1) 122752 2) 100663296 3) 14 4) 8 5) 10 6) 116 7) 5000008

8) 28824005 9) 5326074 10) 43050817

Copyright 2021 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

February 21, 2021

Sr: 21022021-2074

 

http://www.geekschool.co.uk

